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Introduction: Capitalism is the Pure Monetary Economy



One of the most spurious issues raised by economists has been the debate over the neutrality or non-neutrality of money. All participants used to define a monetary economy by referring to its postulated contrary, the barter economy. The barter reference ensconced the postulate that the economy could be divided between its structural core, the mode of production, and its exchange structure. Substituting money for barter should have no impact on the mode of production which would not change the fundamental nature of the economy. Herein is the explanation of a Post-Keynesian methodology� to address the non-neutrality debate. Money is substituted for barter because rational agents want to cope with uncertainty. As soon as money exists, it is desired for itself because of its perfect liquidity. Hoarding money because of preference for liquidity squeezes aggregate demand and therefore employment, which should be the benchmark of the non-neutrality of money.

The Post-Keynesian solution enshrines a paradox because society would be obviously better off without money. Money is both necessary (it helps to control uncertainty) and the scourge of society (it is the ultimate cause of unemployment). The paradox is a logical consequence of the dichotomy postulate which allows to compare the level of employment that could exist in a barter economy with its level in a monetary economy. Post-Keynesians were led to believe that the nature and role of labour, and therefore the very production process, are independent of the exchange regime. Like all other participants to the debate, Post-Keynesians have been mislead by the obsessive reference to the barter economy which never existed over time. It was dreamed up by neo-classical economists as a pure logical device excluding any reference to history. Since it is now well known that it is also logically inconsistent,� the debate on the anchor of a non-neutral money was doomed since its inception. 

In the course of time, non-monetary economies existed. Money did not exist because their fundamental characteristics, their mode of production did not require its existence. It is impossible to compare the levels of the same aggregate, employment, in a non-monetary economy and in a monetary economy because they rely on entirely different modes of production and therefore on absolutely different relationships. The dichotomy postulate is therefore self-contradicting: 



























Money exists in an economy because it is essential, which means that it is the ultimate existence condition of this economy. Inversely the non-monetary economy is an economy in which money cannot bee essential because it would contradict its mode of production. 

Modern capitalism is the model of the monetary economy since its inception in the wake of industrial revolution, all its characteristics, as shown by table 1, rely on the existence of money. The inverse model of the non-monetary economy is the Command economy which in the course of history had two aspects, as shown by table 1. It first appeared in agrarian (or quasi-exclusively agrarian) societies which ignored money (Command I). They were highly organized civilisations like the early Chinese empire before VII° century BC, Pharaonic Egypt, Mycenian Greece (from XVI° to XII° centuries BC), Andean and Meso-american kingdoms and city-states. Command I also ruled over non-statist «tribal» societies like the Iroquois Federation in North-America. Command economy in its pure form was restored in the early feudal society of continental Europe from the collapse of the Carolingian empire until XI° century PC. It was «reborn» in the XX° century, as Command II, in the guise of the collectivist, Statist indeed, mode of production, the so-called «socialist mode of production» in which true money did not exist. Either Command II had only a pseudo-money that was the veil of non-monetary relationships or it simply ignored money like Cambodia under the so-called «Red Khmers». Neither Command I nor II were the ideal free barter-exchange of conventional economists.�

































Table 1.



Command I



I. The State has an absolute control over productive resources. Private property does not exist but «private use» of non productive resources may exist (houses).



II. The State has a total control over the labour force, whatsoever the legal nature of the bind (slavery, serfdom, etc.). It can conscript at will labour. Free labour does not exist. The user of Labour has not to pay a wage to incite labour to work. 



III. The State determines the distribution of output between the reproduction of labour (productive consumption) and the surplus. Taxes in the modern sense do not exist or at the guise for the tribute raised in nature. 



IV. The State shares the surplus between the ruling class (the sovereign, its court, bureaucrats, priests and army) for its unproductive consumption and the saving or investment fund. Investment includes consumption of labour on public works and accumulation of food in state granaries to take care of the extreme natural uncertainty.



V. There is a unit of account decreed by the State but money does not exist. 



VI. Classical economics holds! Output is exogenous, all that matters is distribution. Demand plays no part in the valorization of output. Real saving binds investment. The more the State is thrifty, the more it can invest. State thriftiness is partly determined by its ability to take care of absolute uncertainty. Unemployment in the modern sense is irrelevant.















�Command II



I. The state is the sole owner or proprietor of all resources, productive or not. State or «Collectivist» property forbids
 
even erstwhile «private use». 



II. The State has a total control over the labour force through authoritarian planning. It determines the allocation of labour. Labour is paid a wage in money but it is only a veil for the share of output allocated to productive consumption. 



III. The State determines both the level of output and its distribution between productive consumption of workers and farmers and the surplus. To maximise de surplus, the share of consumption goods available for wage-earners is frozen at its subsistence level. Taxes in the modern sense play a very minor role. State resources are generated by real surplus it raises directly as the sole producer. 



IV. The State shares the surplus between unproductive consumption of the ruling elite (Party, bureaucracy, police, army) and investment. All investment is increase in the stock of equipment both for future production and military equipment. Through forced accelerated investment, the State wants to get rid of uncertainty. 



V. The Plan requires a unit of account but money proper – true money – does not exist. The State creates just enough money to allow wage-earners to acquire the predetermined amount of consumption goods. Prices are decreed by the Plan. Money is a pure veil of the real allocation of output. Nothing would change if it did not exist. 



VI. Classical economics holds in its pseudo-monetarized form. Money is perfectly neutral. Forced or planned thriftiness binds accumulation. Demand plays no part at all. Unemployment in the modern sense does not exist. Labour is always scarce relative to the principle of always increasing the surplus.�Modern Capitalist Economy



I. Private property of all resources and free labour rule. The State is the producer of collective goods. It has to spend money to acquire the use of labour and a share of new equipment goods. The state has the fundamental or essential right to create money at will. Taxes withdraw money from the private sector. They destroy money by extinguishing tax abilities previously imposed by the State. 



II. Private firms or corporations have the absolute control of productive resources? They determine the level of output (and employment) to abide to their profit target. They need money to attain their target. Money is created by private banks through their loans to firms. Money creation reflects all firms outlays, cost payment and acquisition in full property of new equipment goods. Costs include interest to banks. Bank money is destroyed by reimbursement of loans and payment of taxes. 



III. What matters for firms (the so-called industrial capitalists) is their profits which are realized in money when output is sold. Profits being equal to the sum of investment and State deficit minus monetary saving, the surplus law does no hold. Squeezing consumption spending shrinks profits. To get their targeted profits, firms need to spend first for investment by borrowing to banks. 



IV. Money is denominated in units of account determined by the State as relevant for accounting wealth. The monetarized state is essential for the existence of a true money. Banks exist as the main source of money for the private sector because their credit activity has been endorsed by the State. 



Classical economists no more holds while neo-classical economics is merely irrelevant. Output is endogenous, valorization is realized by demand, thriftiness is an obstacle to investment, unemployment exists, money is no more a mere veil of real circulation handled by State power.
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Table 1 does not mean that money is the cause of unemployment, as if restoring the doomed command economy were a sensible agenda. The truth is that unemployment in its modern sense can only exist in the capitalist economy.



II. The Theory of the Monetary Circuit



The essentiality principle is the core of the theory of the monetary circuit which is rooted into four propositions.



1. Money is created in the flux phase of the monetary circuit to realize required expenditures of firms and State. 

Banks create money to allow capitalist firms to undertake their targeted acquisition of the use of labour and commodities in order to achieve their profit target. Through its central bank the state creates money to undertake its desired acquisitions�. 



2. Money is destroyed in the reflux phase of the monetary circuit when firms and State recoup the amount of money initially injected.

The counterpart of the amount of money initially created and spent is a debt payable in the future to banks and State. Firms’ debt to banks is equal to initial creation of money by banks. It is paid out of the money they collect in the sale of output. Firms’ liabilities and money are extinguished by an equal amount. The State imposes tax liabilities on the private sector which is henceforth striving to get an income at least equal to tax debts. The payment of taxes is a component of the reflux extinguishing tax liabilities and money by an equal amount. 



3. Money has a value which only stems from the results of an instantaneous spending of money. 

Money has a value because it is accepted as the counterpart of the transfer of the use of labour and commodities. It is accepted because every-one who receives an amount of money denominated in predetermined units is certain of what can be achieved by spending this amount of money. A share must be spent to be discharged of tax liabilities, the remaining share reflects the share of the value in money of the new output generated by initial outlays which can be acquired by the recepient of money. State money and bank money have the same value since they are perfectly convertible. Banks money can be spent to pay taxes. Every recipient of State money is certain both that State outlays contribute to the value of output and that the State spends to maintain or increase the output of collective goods which contributes to real wealth. Taxes are therefore the monopolist-prices of collective goods. Ultimately, what determines the value of money is just the value in money units of the new output of both commodities and collective goods. Each recepient of money is absolutely certain that it is the measure of its right on new output of commodities and on new output of collective goods. The value of money is therefore independent of its support and of any kind of intrinsic characteristic of the support like the keynesian liquidity. There cannot be in the capitalist economy something like the demand for money that would reflect a desire to hold money. Money has a value as long as it is spent to acquire commodities and collective goods generated by initial creation of money. Saving money for the future is contradicting the law of value of the capitalist economy. Saved or Hoarded money is deprived of any value. It does not bestow rights on future output because the rights on new output are only acquired by those who receive the money created by initial outlays. From proposition 3 stems the corollary: 

The so-called reserve-of-wealth function of money does not exist. It is inconsistent with the law of value of capitalist economy.



4. From proposition 3 stems also the general definition of money in the capitalist economy: money is a pure abstract token denominated in State units of accounting wealth created by the State as a mere conventional debt to its other self, the central bank, and banks as the counterpart of credit granted to firms, instantaneously injected into outlays, and destroyed in the acquisition of new output of commodities and in the implicit acquisition of collective goods (the payment of State tax liabilities). 

The token itself does not matter, be it notes or deposits, is irrelevant. What is crucial is that it is denominated in units of account on which the State has the absolute monopoly. Monetary units are therefore the sole units of accounting wealth – which implies that value can only be expressed in money. 

Post-Keynesians, in the like of mainstream economists, use to define money as a liquid liabilities of banks without raising the questions: to whom and for what are banks indebted?; since the Sate imposes its money, how can the State be indebted by the creation of money?



Banks creation of money

It is the outcome of two intertwined debts relationships, d1 and d2.



d1. As soon as banks grant a credit, they endorse firms planned outlays. They are therefore instantaneously obliged to create the required amount of money. This obligation results from their commitment to provide always the amount of money allowing firms as industrial capitalists to attain the profit norm. It is not a pure contractual commitment but a structural bind which is the existence condition of banks. Banks’ commitment is reflected in their balance-sheet by deposits which materialize as liabilities. The counterpart of those deposits is not the specific debt of those who got a credit; it is a debt to society as a whole, which explains why every holder of deposits can hold an equal share of banks liabilities. A corollary of the fourth proposition is therefore that none of the holders of banks liabilities is an individual creditor of banks. 

The structural nature of d1 fits the historical relationship between banks and the State. The power to create money lies initially within the State enforcing the use of its chosen token by requiring that taxes and judicial obligations must be discharged by payments in this token. To comply with the need of the capitalist mode of production, the State has to delegate a share of its monetary power to private institutions closely connected to industrial capitalists. Delegation of monetary power means that the State bestows the nature of money on the liabilities issued by the targeted institutions. Henceforth they are freely convertible in State money, they can be used to be discharged of legal commitments, which implies that they are denominated in State units of account. Banks are born since those institutions are now free on any liquidity constraint because the mere act of granting a loan to an industrial capitalist generates an equal amount of money.



d2. The asset-side of banks balance-sheet is firms debt to banks which is payable when firms recoup money from the sale of output. Since at that very moment, money has lost its value, it is logical that the payment of firms debt entails an equal destruction of money. Firms could not pay their debt if a part of initial deposits has been frozen in some hand to be spent in the future. Accumulation of deposits for the sake of the finance motive is therefore contradicting the nature of money. Were those hoarded deposits existing, they would not be money since they would be bereft of any value.



State creation of money

In the modern capitalist economy, the State creates money through the relationship between its spending department, the treasury, and its banking department, the central bank. The installation of central banks has extended banking accounting to the State without submitting the State to the constraints imposed on private banks. d2 does not exist for the State because of the nature and role of taxes. 

The State in its role of central bank is obliged to provide society as a whole with an amount of money equal to its planned expenditures. Herein is the benchmark of the monetarized State abiding to the laws of the capitalist mode of production. Spending by the treasury materializes this structural commitment, which explains why money appears in central banks liabilities. The specific form of these liabilities is irrelevant, deposits, notes, coins are part of the structural or essential debt. 

The counterpart of those liabilities is the debt of the treasury which is the asset-side of the central bank. It is a fictitious debt since it is a debt of the State to itself; the State is therefore free to determine the terms of this debt. The treasury capacity to be discharged of its debt only depends on the magnitude of tax liabilities which have been imposed by the State on the private sector. The payment of taxes in the reflux is simultaneously extinguishing tax liabilities and money by an equal amount. Assuming that tax liabilities are equal to spending, the treasury pays its debt in full, all the money initially created by the State has vanished. The State may prefer tax liabilities lower than spending, which has two inverse effects on the treasury and the private sector. The treasury remains indebted but there is an increase in the amount of State money for the private sector. Such a deficit perfectly fits the law of value because as it will be shown, it generates an increase in the creation of value which is reflected by a rise in profits and therefore in firms net wealth. The State can also run a surplus by imposing tax liabilities greater than outlays. The surplus generates an equal loss of State money for the private sector inducing a loss of value mirrored by lower profits and therefore net wealth. 



III. The Nature and Role of the Rate of Interest

Age-long debates led Post-Keynesians to the conclusion that the rate of interest is exogenous because it is ultimately determined by the central bank. Such an absolute power of the central bank remains largely unexplained because it is missing the true root of the rate of interest which is the capitalist law of value. 



The dual nature of banks is the root of the rate of interest

Banks are corporations which by delegation of the State are specialized in the activity of money creation. Productive corporations, the firms, are the private proprietors of the stock of productive resources, the so-called real capital. Private property rights on firms materialize other corporations and individual capitalists. 

From the property structure of capitalism stem two intertwined identities:

	The value of firms is identical to the value of real capital and the value of real capital is identical to the value of stocks.

Firms target over time a rate of growth of their value which is the prerequisite of the production process; it is the rate of growth of value which is required by the very «animal spirits» of capitalism.

The same principle applies to banking corporations. Their value (or the value of their stocks) is identical to the value of the share of firms stocks they hold. The existence condition of credit activity is that banks can be certain to attain their required growth of value. Banks are therefore targeting an increase in their share of firm’s stock which embodies their own «animal spirits» or thirst of accumulation. Banks can only acquire stocks issued by firms by spending their own profit. Banks profit is the discrepancy between their gross income and costs resulting from their credit activity. 

Interest payments are part of production costs, they are financed by money creation. Banks can play freely their part of rentiers because they have the power to advance to firms the amount of their interest income. 

Banks share their income between payments to other financial capitalists (dividends, conspicuous bounties for the staff) and saving. Banks saving is that share of initially created money firms cannot recoup in the sale of output whatsoever the channel. To meet their debt they are obliged to sell banks stocks by an amount equal to banks saving. From this mechanism of transfer of wealth from firms to banks stems the fundamental nature of the rate of interest:

The role of the rate of interest is to adjust firms interest payments to banks desired accumulation of wealth. It is rooted in the forced redistribution of wealth between firms (productive capitalist class) and banks (impersonating the rentiers class).

This theorem explains the determination of the rate of interest as a pure exogenous constraint on firms.

In the simple monetary structure of capitalism, banks sole cost are salaries while firms interest payments is the sole source of income. Let �INCORPORER Unknown����INCORPORER Unknown���and � INCORPORER Equation.3  ���be respectively banks targeted increase in their wealth, targeted rate of growth, outstanding wealth, saving rate, firms required interest payments to banks, banks labour cost, firms outstanding debt, firms planed new debt and the rate of interest.



�INCORPORER Unknown���								[1]



�INCORPORER Unknown���									[2]



Firms run an accumulated debt equal to banks wealth. On this debt they pay a dividend or interest which is included into costs. Being only interest in aggregate income, banks charge the same rate of interest on all debt. Firms pay interest on all their outlays including banks dividend. �INCORPORER Unknown��� being net dividend payments.



� INCORPORER Equation.3  ��� 								[3]



� INCORPORER Equation.3  ���							[4]



� INCORPORER Equation.3  ���								[5]



With � INCORPORER Equation.3  ���, egalising effective interest payments to their level targeted by banks, 



from equation [1], [2], [3] stems:



� INCORPORER Equation.3  ���								[6]	





� INCORPORER Equation.3  ���								[7]





dividing by �INCORPORER Unknown���we get the ultimate expression of the rate of interest



� INCORPORER Equation.3  ���								[8]



In equation [8] the ratio �INCORPORER Unknown���can be interpreted as a structural constant. Firms undertake �INCORPORER Unknown���to exact a profit which is instantaneously invested in the acquisition in full property of new equipment goods. In the long-run firms strive to increase their share of the property by generating enough profit to maintain the share of rentiers below some level. Firms want to attain this goal by maintaining in the long-run a constant ration of �INCORPORER Unknown���to �INCORPORER Unknown���and therefore of targeted profits to accumulated debt. It is also sensible to assume a constant ratio �INCORPORER Unknown���because banks corporations increase labour just to manage their wealth. 

Ultimately the sole determinants of the rate of interest are banks targeted rate of growth of their wealth and the saving rate.



The full exogeneity of the rate of interest

As long as banks corporations maintain a constant saving rate, any rise in their targeted rate of accumulation leads to the rise in the rate of interest. The role of banks saving rate is worth emphasizing: for a given desired rate of accumulation, a higher saving rate leads to a lower interest rate. The explanation lies in the relationship between banks saving and firms forced sale of stocks. The greater is banks saving, the greater the leakage and therefore the amount of value firms have to transfer to banks. Herein is the true role of saving in the conflict between rentiers and firms on the distribution of stocks:

Instead of increasing the rate of interest banks as rentiers can prefer to raise their saving rate to attain a higher rate of accumulation. Banks managers are squeezed on income but they are compensated by the rise in the value of banks stocks they hold.

Firms must abide to the rate of interest imposed by banks which are their sole direct source of money. Their planned expenditures reflect the rate of interest; they are automatically endorsed by banks which are certain to meet their wealth target.



The true role of the central bank in the determination of the rate of interest

The full exogeneity of the rate of interest rules independently of the central bank. Central banks have been created to ensure the perfect convertibility of banks money into state money whatever could be the magnitude of state deficit. Perfect convertibility requires that as soon as banks create money to attain their wealth target they must be certain that they will never be short of state money. The existence condition of banks money is therefore that the central bank passively provides banks with the reserves denominated in state money they need.

Herein is the explanation of the full endogeneity of central banks creation of reserves whatsoever the legal status of reserves. Central banks exist not as an enemy of the rentiers class but as the tool used by the state to enhance rentiers power for the sake of convertibility.

The central bank charges a rate of interest on borrowed reserves which adds a new cost and raises the rate of interest over its normal level determined by equation [8]. The very existence of this policy-rate allows banks to minimize the cost resulting from hoarded deposits. Income receivers can be so ignorant of the law of value that they decide to hold their savings in deposits (and state notes). They are addicted to hoarding because they are afraid of the possible losses in the value of stocks. The counterpart of hoarding, taxes having been paid, is an increased unpaid debt of firms to banks. Firms are obliged to meet their debt by selling bonds to banks with a yield equal to the rate of interest. Acquisition of bonds by banks does not affect their net wealth since it is balanced by hoarded deposits. It is extinguishing an equal amount of money, which is the proof of a crucial proposition:

Hoarded deposits are not money but mere financial assets. Money cannot be hoarded in the modern capitalist economy where it is banks money.�    

The bulk of savings whatever their support originates from the rentiers class of which banks are the leader. To comply with this role banks have to provide rentiers with an income when they invest their savings into hoarding. Hoarding generates a new cost by imposing a rate of interest equal to central bank rate. Their power is rooted in the nature of money :

Since banks create money by simply running a new debt equal to their credits, they do not need hoarded deposits. They can therefore impose on hoarders the rate of interest they want because it looks convenient. Having to borrow «liquidity» at the central bank rate, they provide liquidity seekers with the same yield. 

For a given central bank rate, the higher is the outstanding stock of liquid assets, the higher is the level of the rate of interest relative to its normal level. For a given stock of liquid assets and a given target of wealth accumulation by banks, a rise in the central bank rate raises the rate of interest by a magnitude depending on the outstanding stock of liquid assets. Ultimately, exogeneity of the rate of interest is just reinforced by the central bank. 



IV The realization of profits in the fundamental monetary circuit

Within this circuit there are no intermediations between banks and firms which means that the degree of roundaboutness of the monetary structure is nil.



The nature and role of profits

Firms start a new production process to attain their targeted growth of net wealth. Firms net wealth is the discrepancy between the value of their equipment (their gross value) and their outstanding liabilities. Those debts are acquired by saving out of incomes paid by firms. In the modern capitalist economy net savings of wage earners are so low that it is highly sensible to assume that their saving rate is near zero. Firms liabilities are held by the rentiers class, banks and all kind of individual capitalists, whose characteristic is that the sole source of income is interest paid by debtors which are firms only as long as we abstract from the state and net wage earners debt. Net wealth matters because it accounts for the ability of firms to fight squeeze by rentiers in terms of income drain and constraints on power through the enforcement of harsh creditworthiness norms. Firms increase their net wealth by an amount equal to investment minus savings. Investment is the share of output which is acquired by firms to raise their equipment. Firms finance investment in spending a share of the money initially created by banks, which is a crucial characteristic of accumulation in the capitalist mode of production.

Banks credit encompasses both costs of production leading to output and investment which allows the realization of the value of output. Were money creation just equal to income costs, a share of output will be deprived of value. 

This proposition is rooted into the law of value according to which value is generated by acquisition and therefore by expenditures of money created in the flux phase. 

Profits are equal to the value of output minus income costs firms have to pay to undertake output. They reflect the amount of money firms exact from the production process. Profits are therefore realized in the reflux phase when the value of output is fully realized by investment. Profits cannot exist before investment and firms spend them to pay back an equal share of the debt incurred to realize accumulation. As long as the sole source of money spent in acquisition is banks credit to firms, firms cannot recoup more money than they had to spend to pay for income costs and investment. Profits are therefore always inferior to investment, which unfolds the very nature of profits.

As soon as they are realized, they are destroyed in their money form and what remains is firms net wealth. Profits are identical to firms accumulation of net wealth. Since the value of equipment is identical to the value of stocks, spending profits is tantamount to the issue of stocks for themselves by firms. Herein is the proof that they are equal to the discrepancy between investment and savings.

The nature of profit explains that the targeted rise in net wealth is reflected by the amount of targeted profits which is the existence condition of production for firms as capitalists.



Adjusting effective profits to required profits, the crucial constraint on firms

�INCORPORER Unknown���and �INCORPORER Unknown���being firms accumulated net wealth and its desired rate of growth targeted profits are



�INCORPORER Unknown���										[9]

or

�INCORPORER Unknown���									[10]

�INCORPORER Unknown���

�INCORPORER Unknown���being the targeted rate of return on firms net wealth that is identical to the desired growth rate, it can be deemed the targeted net rate of profit which matters for firms. �INCORPORER Unknown���is strictly exogenous relative to the ongoing production process because it is a share of the aggregate value of equipment which only depends on firms long-run animal spirits betting on exogenous forces affecting profits, state deficit, wage earners debt, changes in rentiers targeted accumulation. Herein is the explanation of the exogeneity of investment relative to the ongoing circuit period and therefore of the inexistence of an instantaneous neo-classical or keynesian stable relationship between investment and the rate of interest. The exogeneity of the value of «capital» also explains that it does not depend upon the ongoing rate of profit which takes care of any paradox in the theory of value.� �INCORPORER Unknown���in equation [9] is therefore independent of the rate of profit, which means that

To catch the required profits it is enough to generate a net rate of profit equal to the desired rate of growth.

To be certain to meet their goal firms have to impose the right structure of the production process. There is therefore a unique relationship between the desired net rate of profit and the rate of return on costs that must be imposed. Let �INCORPORER Unknown���that required rate of return, �INCORPORER Unknown���being income costs of firms.



�INCORPORER Unknown���										[11]



�INCORPORER Unknown���										[12]

[12] means that �INCORPORER Unknown���being given there is a unique rate of return firms want to impose because it must generate a net rate of profit equal to �INCORPORER Unknown���. �INCORPORER Unknown���enshrines firms animal spirits, the very quintessential spirit of capitalism. Being not a mechanical relationship �INCORPORER Unknown���could change over time but it uses to be stabilized by the intervention of banks. 

As a creditworthiness norm banks force on firms a minimum rate of return �INCORPORER Unknown���to be certain that firms will strive to catch their targeted net rate of profit. Were firms falling for enough time short of profits could have a devastating impact on the value of equipment and therefore on banks wealth. Banks want to control firms animal spirits, which explains that firms own desired rate of return used to be anchored in the level fixed by banks, so that



�INCORPORER Unknown���			 							[13]



Adjustment is simultaneously operated through the determination of aggregate production costs and the price level of output. Taking care of the rentiers constraint, adjustment can only be handled through the fixation of the wage-bill and the wage-rate and therefore of employment.



The wage-bill adjustment

There are two components of costs, the wage-bill �INCORPORER Unknown���and firms payments to rentiers �INCORPORER Unknown���including payments to banks and to non-banks rentiers �INCORPORER Unknown���. Let �INCORPORER Unknown���be the ratio of rentiers income to the wage-bill in production costs, �INCORPORER Unknown���being both expected and realized as the result of adjustment. Required profits �INCORPORER Unknown���are therefore



�INCORPORER Unknown���									[14]



�INCORPORER Unknown���is rooted into informations of which firms are certain, the inherited debt, the rate of interest and the wage-rate. For a given inherited debt a rise (fall) in the rate of interest raises (lowers) �INCORPORER Unknown���. 

Effective profits are the difference between costs and aggregate expenditures on commodities initiated by the private sector and the state. From the private sector arises firms investment �INCORPORER Unknown���, wage-earners consumption �INCORPORER Unknown���, and rentiers consumption �INCORPORER Unknown���. The state contribution to expenditures is its net 
 productive deficit �INCORPORER Unknown���equal to the gross deficit net of the induced rise in savings. It accounts for the state impact on aggregate investment (public investment) and consumption. Let �INCORPORER Unknown���be the value of output,



�INCORPORER Unknown���									[15]



Wage-earners consumption, their saving rate being assumed to be zero, is equal to wages paid by firms plus wages paid by banks which are a share �INCORPORER Unknown���of aggregate payment of interest by firms. Rentiers consumption is squeezed by a very high saving rate �INCORPORER Unknown���taking care of banks own saving rate equal to one. A very small share of their income, firms payment of interest net of wages paid by banks, is recycled into expenditures. 

Effective profits �INCORPORER Unknown���are therefore equal to



�INCORPORER Unknown���						[16]



As long as �INCORPORER Unknown��� is not greater than saving leakage, all profits are destroyed in the reflux phase.

Let �INCORPORER Unknown���be firms expected level of the state deficit, adjustment means that



�INCORPORER Unknown���							[17]



�INCORPORER Unknown���								[18]



There is only one endogenous variable in [17], which is tantamount to the proposition that:

Firms can always catch their required profits through the determination of the wage-bill. Since it is reflecting the value of labour generated by the capitalist private sector, labour value is imposed on labour by firms so as to adjust firms targeted accumulation to rentiers targeted own accumulation. Equation [18] proves that the labour force bears the necessity of reconciling the two competing fractions of the capitalist class, firms and rentiers. 

For a given �INCORPORER Unknown���and �INCORPORER Unknown���, a rise in �INCORPORER Unknown���generates a fall in the wage-bill while a fall in �INCORPORER Unknown���could raise its level. Equation [18] also explains that a rise in the rate of interest lowers the wage-bill because it raises �INCORPORER Unknown���and therefore squeezes firms profits. The rate of interest matters because, �INCORPORER Unknown���being given, it controls the distribution of net wealth between firms and rentiers. By raising its level, rentiers increase squeeze on firms which have to squeeze more labour to protect their accumulation. Being a pure distribution parameter, the rate of interest does not have a direct short-run impact on investment, which contradicts the well-known keynesian relationship. Equation [18] emphasizes that the state deficit is the sole degree of liberty as long as it is rightly expected, which implies a strong consistency of state fiscal policy. Any rise in the rate of interest and the rate of return (and indeed in the saving rate) should be compensated (at least) by a rise in the level of the deficit.



The wage-rate adjustment

Firms spend on labour to attain their required value of output which is identical to real output �INCORPORER Equation.3���multiplied by the unit value of output, the so-called price level �INCORPORER Equation.3���. Real output is equal to the quantity of labour in labour-units �INCORPORER Equation.3���employed by firms multiplied by the productivity of labour l, which means that it is measured in labour-units. Let �INCORPORER Equation.3���be the unit wage-rate, any value of output in labour units meeting equation [18] meets condition [19]
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with
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�INCORPORER Equation.3���



and so
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[20] displays three characteristics of pricing in the genuine non text-book capitalist economy.



 1- Firms impose the price level fitting their profits target. The price level is independent on the so-called degree of competition (in monopoly) within the firms. It is obviously covering all costs; a price level that would not allow to recoup all costs would be an eerie fantasy.



2- Any rise in the rate of interest and the rate of return simultaneously raises the price level while squeezing the wage-bill.



3- A rise in investment and expected deficit has no impact on the price level because they only induce a rise in the wage-bill and therefore in output.



These three characteristics are tantamount to the proposition that market process does not play a part in the pricing process. Firms are bound by rentiers whose targeted accumulation must be reflected by a given growth of equipment in labour units. Increase in real equipment being the output of equipment goods, assuming a given amount of investment spending, a rise in the price level leads to a lower growth of equipment and therefore to a failure of rentiers planned accumulation. Such a failure triggers a fall in the value of rentiers net wealth, which explains why they strive to impose price stability on firms. Enforcement is implemented by banks as a genuine creditworthiness norm firms have to meet to be granted credit. Herein is the characteristic of the rentiers economy which is the late stage of the capitalist economy.

A stable price level is forced on firms by banks as the leading arm of the rentiers class. Since the role of the central bank is to allow banks to succeed in their accumulation, it is not amazing that the central bank priority in its monetary policy is price stability.

Being deprive
d
 of any degree of freedom, firms have to control the wage-rate which becomes an endogenous adjustment variable. In equation [20] taking a price level equal to one, gives the unique level of the wage-rate consistent with the realization of targeted profits
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A rise in the rate of interest and the rate of return leads for a given labour productivity to a lower wage-rate. From equations [20] and [21] stem the proposition that employment is unilaterally imposed by firms having to reconcile their targeted accumulation with rentiers own one. Labour market cannot exist, unemployment is the rule in the capitalist economy, it is intrinsic to its very nature, as long as full-employment is not enforced by the state.

«Exploitation» of labour exists without going back to the classical theory of value that cannot hold in a monetary economy.

Labour-force holders are rationed both in terms of employment and purchasing power of employment in terms of consumption. Exploitation is not rooted into some deviancy of capitalism but into the capitalist system itself. It has obviously nothing to do with uncertainty.

This last proposition does not mean that some erstwhile mode of production must be restored, each had its genuine exploitation of labour. What is at stake is the absolute necessity of the state intervention to tame the spontaneous forces of the system.



V. The monetary role of the state and the impact of monetary roundaboutness

Whatsoever direct controls on animal spirits, the state can only generate full-employment by spending which is the benchmark of the capitalist economy. The state is free to spend because it is not constrained by taxes and banks sale to rentiers, which is the outcome of the monetary power of the state. No capitalist economy could exist if the state was deprived of its power, whatever could be the roundaboutness of the structure embodying the so-called «role of financial market». Squeezing artificially the state power on money is the road to crises.



Neither taxes nor bonds sales are needed by the state

Embodying the monetary power the state automatically finance its expenditures by the creation of money. State spending includes income payments and the acquisition of commodities required by increase in public equipment which accounts for the state investment. Incomes are paid to state employees and these benefiting from welfare payments. The state does not need taxes to spend, this should be the cornerstone of monetary theory. The sole role of taxes is to withdraw money from the private sector to curb its capacity to spend (taxes on wages), to save (taxes on rentiers income) and the will to invest of firms (taxes on profits). Playing this part, taxes are indeed imposing the existence of state money. Taxes are therefore destroying money channelling money to the state which has no use for it, which is tantamount to the proposition that the state initially imposes tax liabilities on the private sector; paying taxes destroys simultaneously liabilities and money. A major corollary is that a surplus cannot provide the state with a fund to spend in the future; it means that the state destroy more money than the amount it has initially injected.

When the state runs a deficit, it withdraws less money than the amount initially injected by its outlays. The state does not need bonds sale to finance a deficit which is already financed. Existence of bonds is rooted into the impact of the deficit on rentiers accumulation. 

Let us assume the inexistence of the public debt. The deficit increases profits by an equal amount since it reflects the net rise in expenditures on commodities. If it is just equal to rentiers savings, profits are equal to investment and firms do not increase their liabilities. Rentiers are therefore obliged to accumulate wealth held in state money which does not provide any income. 

Banks would be short of their targeted accumulation which could suppress any incentive to banking activity by the private sector. As long as the state is not ready to take care of all money creation it has to compensate banks by providing them with bonds a positive rate of interest. Banks (and other rentiers) finance acquisition of bonds by liquidating their unwanted quantity of state money, which destroys state money by an equal amount. 

Banks having no alternate genuine possibility to accumulate wealth the state is free to fix the rate of interest on bonds. What binds its degree of freedom is its commitment to allow banks to achieve their targeted accumulation. Taking care of banks costs, the rate of interest on bonds is therefore constrained by the normal rate of interest determined by banks according to equation [8].

Payments on the public debt are included into state outlays, they just entail a new source of state money creation while taxes are raised on them. The state net generation of expenditures is therefore the gross deficit minus savings out of interest on the public debt, which is deemed the net or productive deficit. The higher is the tax rate on rentiers income, the greater is the productive deficit for a given gross deficit.

When the net deficit is greater than savings out of rentiers income paid by firms, profits are greater than investment. Firms could try to pay back a share of their debt to banks but banks would be squeezed on income. Accommodating banks accumulation requires that excess profits must be recycled into future investment when starting a new production process.



The state can achieve full-employment

The state directly contributes to employment because it is a direct employer. It generates employment in the private sector by raising profits through its deficit. For any level of investment, the rate of interest, the rate of return and rentiers saving rate, there is a level of the deficit high enough to adjust firms employment to its desired level by the labour force. Fiscal policy is therefore the sine qua non of full employment in the capitalist economy; to be efficient the state must abide to three rules:

1- It must run a deficit. The so-called «balanced budget multiplier» does not exist. What matters is not state expenditures but the creation of profits that requires a deficit. Were taxes equal to spending, taking care of the saving leakage out of interest payments on the debt, the «multiplier» would be inferior to unity.



2- The deficit must be expected by firms which requires a long-run policy. A growth of available labour-force should be met by the growth of the productive deficit.



3- To attain this target the state must increase productive outlays non-interest bearing, it must also be ready to lower taxes. By the cumulative effect of the direct growth of employment and its indirect growth because of the induced rise in investment, the growth of taxes could exceed the growth of outlays. A surplus could appear leading to a fall in profits, which must be prevented by tax cuts.

The growth of the public debt must not be feared since it is just absorbing rentiers savings. The state must therefore reject any temptation to pay back the debt. It would be a mere waste of money reflected by a collapse of profits and employment.











Monetary roundaboutness and the mythical role of financial markets

According to many textbooks, banks are replaced by financial markets in the most advanced stage of capitalism or rather banks could survive as pure intermediaries recycling prior or ex-ante savings. Banks being deprived of their monetary power, it should be logical to deny the monetary power of the state. Since there would be plenty of available savings thanks to the miracle of markets, firms no more need the state to finance their required spending. Such a restored financial orthodoxy is false because it ignores the very nature of money. In the capitalist economy savings thriftiness-induced are draining money from firms. The sole role of the so-called financial markets as it has been shown is to recycle savings into available finance of firms deficit, which always leads to an equal destruction of money.

There are no alternatives between banks creation of money and markets but there can be an increase in the roundaboutness of the monetary structure. Instead of directly creating money for firms, banks use to channel money to firms through growing lends of intermediation, which is tantamount to an increasing length or roundaboutness of the monetary structure. The two main intermediations are banks loans to wage-earners either to spend on commodities or to acquire stocks.

When wage-earners run into debts to banks to raise their expenditures over wages paid by firms, banks loans entail an equal amount of money creation instantaneously spent on commodities. It is tantamount to a negative saving rate of wage-earners generating true «windfall» profits for firms. When the growth of wage-earners debt is high enough, firms could catch profits greater than investment and therefore get excess profits available for future spending. Assuming that the state exacts a surplus, the rise in wage-earners debt would be only to reconcile the state fiscal deflation with firms targeted accumulation. Wage-earners debt is also a main source, if it is not the only one, of banks accumulation. Their new debt generates an equal amount of money which they split between expenditures inducing repayment of a share of past debt and interest. Likewise firms, wage-earners payment to banks destroy money. Let us assume that profits are equal to investment, the whole amount of money created in the flux phase is destroyed, what remains in banks balance-sheet is the net increase in wage-earners debt equal to their interest payment.

Such an intermediation shifts interest burden from firms to wage-earners which in the short-run could deter banks accumulation from hurting employment. Assuming that a share �INCORPORER Equation.3���of wage-earners new debt �INCORPORER Equation.3���is generating expenditures and therefore profits, and that the state runs a negative deficit (a surplus), the new wage-bill equation is
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In the short-run by raising enough their debt, wage-earners could compensate for the state surplus while banks could increase the rate of interest without raising �INCORPORER Equation.3���in firms costs. It could be the golden age of capitalism but may be with some hidden darkness because the ratio �INCORPORER Equation.3��� is collapsing. In the long-run wage-earners have to bear a rising debt burden encompassing reimbursement and interest payment. What explains the fragility of this monetary structure is that it is rooted into wage-earners animal spirits enshrining their bets on the sustainability of the debt. Those bets are themselves rooted into the certainty that increasing the debt generates more acquisition of commodities. Let us assume that the compounding impact of a rising surplus and a lower growth of investment reflecting the new mood of firms animal spirits, profits fall despite wage-earners new debt. Wage-earners are no more certain to increase acquisition of commodities by raising more debt, which at a sudden imposes a threshold on debt. A lower growth of debt for a still rising debt burden leads to an induced collapse of firms profits, firms impose more squeeze on employment, henceforth a cumulative process of deflation rules as long as their is no dramatic reversal of the state fiscal policy. Banks can also grant loans to wage-earners wishing to acquire new stocks issued by firms. Loans create money which is channelled to firms by sale of stocks. They spend this amount of money to finance investment which generates an equal amount of profits firms recycle into future investment. A given issue of stocks sustains a greater amount of profits since new investment generates profits recycled into investment inducing more profits, capitalism would have discovered the cornucopia! There must be a cumulative rise in the value of stocks held by wage-earners. Being certain of the future rise in their debt to acquire more stocks. From this certainty of being richer, wage-earners get the will of running into debt to increase consumption, which the so-called «wealth-effect» of buoyant financial markets. It is a pure illusion because markets are nothing but the outcome of the roundaboutness of the monetary structure. Firms want it because it transfers the debt burden to labour while accelerating their accumulation of wealth. Banks want it because they bet on their own accelerated accumulation generated by interest income and the rise in the value of their assets (wage-earners net debt) reflected the rise in the value of wage-earners gross wealth. What dries up this fountain of wealth is the change of wage-earners view of the future. As soon as they are certain that going into more debt cannot increase their acquisition of commodities, they are free of illusion and stop the growth of their debt. Such a reversal of animal spirits appears when profits are squeezed by the state surplus and lower growth of investment. On one side the value of stocks drops, wage-earners are poorer, on the other side firms cut employment. A crisis process starts which should impose the restoration of a monetary structure with a lower roundaboutness.



VI. Conclusion: Essentiality of money means that there is only self-imposed scarcity in the capitalist economy



Natural scarcity rules over non-monetary economies both from the past and recent times. Accumulation only relies on the material possibility of squeezing labour consumption downward to its subsistence or near subsistence level. Scarcity is also intrinsic to classical economics which must be interpreted as the theoretical abstraction of non-monetary economics. Thriftiness also rules in neo-classical economics extolling saving as the genuine source of accumulation. Neo-classical economics is therefore haunted by a paradox, it wishes to unfold the core structure of the industrial economy but it imposes on an economy contradicting the characteristics of non-monetary economies the straightjacket of classical natural scarcity. Herein lies the postulate of the neutrality of money independently on any assumption relative to uncertainty. 

What proves the theory of the monetary circuit is that material scarcity does not exist or rather is not essential to the capitalist economy but –maybe- in the very long-run.

Exploitation exists but its intensity is the outcome of both firms and rentiers targeted accumulation determining firms spending on investment on one side, state policy on the other side. Firms are constrained first by self-imposed norms relative to required profits and the course of future profits which determines investment. They are also constrained by banks thirst for accumulation determining the rate of interest. Thriftiness increases exploitation because it squeezes profits, both in the short-run and long-run.

Nothing constraints the state because it has the power to create money by its expenditures. The state cannot be deterred from spending by taxes because taxes destroy money and are only raised in the reflux phase. It cannot be deterred by rentiers demand for bonds because bonds acquisition are the sole source of banks wealth when profits are raised enough to increase investment. The state is therefore free to impose a deficit high enough to adjust profits to their required level at the level of full-employment. A genuine full-employment policy required a sustain commitment to full-employment allowing firms to bet always on the right amount of the deficit. Firms would have no incentive to displease banks by raising the price level, they could accept a rise in the wage-rate as the debt burden is shifted to the state.

Accepting a deficit is not enough because the state cannot know the right amount of the deficit generating full-employment. This equilibrium deficit is moving over time and depends on factors which are beyond state control, the required rate of profit, the required rate of interest, rentiers saving rate, wage-earners sustainable debt and obviously labour-force holders desired consumption and indeed the whimsical animal spirits leading investment. A more specific approach is therefore required, such as the state as employer of last resort in which the state offers socially useful jobs at living wage to those wishing to be employed while they cannot find employment in firms. This policy is explained in the contribution of Randy Wray to this book and in Parguez (2001b). It hinges on a deficit but a much more stable one on which firms bets could hinge without the possibility of being defeated. 

One must not be by a policy which ultimately subsidizes be patron. It is the outcome of the necessity of providing financial capitalism with full employment. Alternatives are worse because they imply roundabout monetary structures leading to increased exploitation. 

Here enters the central bank which must cut its own rate to squeeze banks costs on reserves and payments to liquid rentiers. Banks are now ready to lower their rate of interest even though their normal rate would be unchanged. The treasury feels free to cut the rate of interest on bonds by adjusting it to the new level of the banks rate. Since there is an inverse relationship between the value of the stock of bonds and their yield, banks benefit from a rise in their wealth which could lead to a lower normal rate of interest. Herein is the crucial proposition of monetary policy :

Central bank control over the rate of interest is proportional to the share of state bonds in banks wealth.

Fiscal restraint and roundaboutness increase the share of banks wealth which, being held in stocks and wage-earners liabilities, does not directly hinge on the rate of interest. Efficiency of monetary policy vanishes as the state abandons any hope of influencing financial capitalism. 

Genuine commitment to full-employment requires that the two hands of the state play together, the spending one and the banking one! When the spending hand is broken, the banking hand plays for a deaf audience.

Ultimately what proves the theory of the monetary circuit is that full-employment does not exist because the state does not want it. The question is open whether the state false policy is rooted into the poor economics of politicians and bureaucrats as well, one should not want full-employment because it is a dream ignoring harsh reality, or because for pure social reasons they are afraid of full-employment.�

One could argue that the proposition only holds if the state has not been obliged to renounce its sovereignty on money. It would be the dire mark of lost nation state today bereft of monetary sovereignty because of the so-called world-scale capitalism. It is not true because a state which enjoyed monetary sovereignty is never obliged to abandon this power which is its existence condition. A state deprived of monetary power no more exists as a genuine state contributing to the growth of the nation economy. Being deprived of its anchor, domestic currency is doomed and the nation as such disappears as an independent entity. Alternatives are henceforth the collapse of its capitalist infrastructure or its total absorbtion by a superior entity.� From this proposition stems the theory of exchange rates. In the long-run relative value of currencies – reflecting relative creation of wealth- determine exchange rates. It is indeed beyond the scope of this contribution which strive to unfold the fundamental characteristics of modern capitalism.



































































Questionnaire and Responses



Questions:

What are the main differences between a monetary and a non-monetary economy?



2)	Why is modern capitalism the perfect form of a monetary economy?



3)	What is money?



4)	What is the role of the state?



5)	What are the major propositions of the monetary circuit?



6)	What determines the rate of interest and what is his role?



7)	What is the cause of unemployment?



8)	What is the role of taxes?



9)	What is the impact of a deficit and a surplus of the state?



10)	What is the role of financial markets?



11)	What is the role of saving?



12)	What is the role of the central bank?



13)	What determine price level?



14)	What is the role of bond issues?



15)	Are banks binded by deposits?



Must a central bank be independent?







Responses:



What matters is essentiality of money. An economy is a monetary economy when it depends on money for its very existence. A non-monetary economy is an economy that does not need money. Here are therefore the main differences :











Non Monetary Economy



I. Accumulation is operated by the state which is the sole owner of resources.



II. The state raise a real tribute over the labour force by use of pure constraint.



III. The state controls the distribution of the surplus.



IV. No private property, no free labour.



Thriftiness rules.





�Monetary Economy



I. Accumulation is operated by firms which are private proprietors of equipment.



II. Firms rely on the creation of money by banks under the constraint of a rate of interest sustaining banks accumulation of wealth.



III. Existence of money depends on the state which has therefore the power to create money. Taxes are raised in money, they destroy money.



IV. Private property and free labour exist.



V. Thriftiness does not bind accumulation.

��

None is a barter economy



2) Money existed before modern capitalism but this is the first kind of economy free of any constraint inherited from erstwhile non-monetary economies. The benchmark of this freedom is that the state enjoys the power to create money at will to undertake expenditures.



3) Money is the set of tokens denominated in state units of accounting wealth on which is bestowed a general acquisition power. They are accepted as the counterpart of the transfer of the use of labour and commodities because of their purely extrinsic value. Anyone who receives these token is absolutely certain both to be entitled to a share of aggregate value generated by their creation and to use them to be discharged of tax liabilities imposed by the state. Money cannot therefore be hoarded as a reserve of wealth. The demand for money function does not exist.



4) The state is necessary for the existence of money. It has the sovereignty on money which means that it creates money to undertake its expenditures and destroys money when taxes are raised.



The Theory of the Monetary Circuit spells out five propositions:

I.	Money is created by state expenditures and private sector expenditures financed by banks credits or loans.

II.	Banks loans are granted to firms (no intermediation) or to wage-earners (intermediation).

III.	Money is destroyed when taxes are paid and loans reimbursed to banks.

IV.	Banks loans to firms are equal to firms aggregate expenditures, costs plus investment minus accumulated profits in the past.

V.	Since profits are spent to pay back the debt incurred for investment, firms accumulated profits are equal to the excess of profits over investment. Excess profits are generated by high levels of state deficit and wage-earners new debt relative to rentiers savings leakage.


6) The rate of interest is rooted into banks targeted accumulation of wealth. It is therefore imposed on private borrowers, firms and wage-earners. The rate of interest is a pure distribution parameter squeezing firms profits.



7) Unemployment is the outcome of the inexistence of a labour market. Firms impose the level of employment which reconcile their targeted accumulation with rentiers targeted accumulation. Adjustment is operated through the fixation of the wage-bill and the wage-rate.



8) Taxes destroy money when they are raised by extenguishing tax liabilities of the private sector. It is tantamount to the proposition that the worse mistake is to believe that taxes provide the state with a revenue it has to spend.



9) A state deficit is the increase in the net wealth of the private sector as a whole mainly reflected by a rise in firms profits. A surplus is a fall in private sector net wealth mainly reflected by a profit squeeze.



10) Financial markets are not a source of money for the private sector which could extinguish money creation by banks. They are just the support of roundabout monetary structures through which banks channel money to firms with a growing number of intermediations. Roundaboutness of the monetary structure is used by banks to increase their accumulation of wealth. It is used by firms to shift the debt burden on wage-earners.

11) Saving by income-earners is a drain on firms receipts. If it is not compensated by the state deficit, saving squeezes profits and therefore employment.



12) The central bank has two interwined roles. Its primary role is to be the banking part of the state creating money at request of the treasury. It must therefore support the perfect convertibility of bank money into state money by providing banks with all the reserves they need. The central bank cannot constrain reserves, it just imposes a cost on banks by charging a rate of interest on borrowed reserves. Banks rely on central bank rate to fix the rate of interest they grant to holders of liquid assets. 



13) The price level is the unit price of output. It is fixed by firms in order to recoup all costs and get the required profits. For a given wage cost, it depends on the rate of interest to wages in firms costs and on the targeted rate of profit. Banks constraint on firms impose price stability which explains that ultimately firms impose the wage rate for a given labour productivity.



14) Bonds sale is not used to finance the deficit but to provide banks with an alternate source of income relative to firms debt. As long as the state does not want to squeeze banks, it provides bonds holders with a rate of interest meeting their wealth target. Bonds holders cannot bind the state relative to the amount of the deficit since they have no alternative.



15) Of course not! Banks cannot be bound by the money they create by their credits. It is a pure fantasy to believe that banks lend their liquid resources. Instead of capitalism we would get some Goblin agency like in Harry Potter’s wisards world where Goblins rely on absolute gold standard trading on gold coins. As soon as banks come into existence, they create money!




No, the central bank must not be independent. It would be bereft of legitimacy and doomed to impotence.
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� A straightforward example of this view is Fontana (2000) contribution to the debate. It is indeed rooted into Keynes himself as shown by Parguez (2000b).

� For this logical inconsistency of the barter economy one can refer to Parguez and Seccareccia (2000).

� The barter economy ignores command, and therefore there is no room for the State.

� The monetary theory of the state has been for the first time explicitly spelled out in Parguez (1985,1989) Herein was already the crucial proposition that taxes do not finance state expenditures.

� The private sector can accumulate state money as reserves (banks) and notes (non banks income earners) when the state runs a deficit.

� The paradox in the theory of value refers to Robinson’s critique of neo-classical theory of capital (Robinson, 1956). There is no paradox because the rate of profit depends on the value of capital which does not hinge on the ongoing rate of profit.

� One could argue that «responsible policy-makers» are frightened by full-employment. Inducing labour scarcity, it could bestow absolute power on organized labour which would impose outrageous rise in the wage-rate relative to productivity. It is a fantasy! «Responsible» people forget that in the long-run labour is not scarce. Full-employment does not exist once for all. It has to be maintained by convincing firms to raise enough their targeted employment. Firms do not loose their control over employment. There is more because one should raise the question: why organized labour strives to raise the wage-rate? Like capitalists wage-earners are bereft of any kind of money illusion. The famous monetary illusion contradicts the key nature of money wage-earners. They target to get enough income to quench their desire for commodities. Assuming that they are rationed on income, wage-earners strive to be compensated by wage hikes. They bet that they could save their targeted acquisition by playing on the conflict between firms and rentiers. A rise in the wage-rate could be compensated by a fall in the rate of interest. It is indeed a false hope, but it proves that wage-inflation is not the outcome of a full-employment policy but of the very absence of this policy. Some refer to the seventies of the twentieth century  imposing wage hikes in United Kingdom. There were indeed powerful unions at a time when, because of frozen animal spirits, investment collapsed leading to declining productivity. Rentiers fought to protect their accumulation while the state had no long-run policy at all but to save the currency by the awful «stop and go» policies. This experience reinforces the conclusion that wage inflation is not the result of a genuine full-employment policy.  

� It would be the case when the state imposes a foreign currency as the new domestic currency or when it becomes part of a monetary union in the like of the European Monetary Union (Parguez, 1999).










